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1.

INSTRUCTIONS TO CANDIDATES

IMMEDIATELY AFTER COMMENCEMENT OF THE
EXAMINATION, YOU SHOULD CHECK THAT THIS
TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR
TORN OR MISSING PAGES ORITEMS ETC. IF SO, GETIT
REPLACED BY ACOMPLETE TEST BOOKLET OF SAME
SERIES ISSUED TO YOU.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C
OR D, AS THE CASE MAY BE, IN THE APPROPRIATE
PLACE IN THE ANSWER SHEET USING BALL POINT
PEN (BLUE OR BLACK).

You have to enter your
Roll No. on the Test

Booklet in the Box

provided along side. DO
NOT write anything else on
the Test Booklet.

YOU ARE REQUIRED TO FILL UP & DARKEN ROLL
NO., TEST BOOKLET/QUESTION BOOKLET SERIES IN
THE ANSWER SHEET AS WELL AS FILL UP TEST
BOOKLET/QUESTION BOOKLET SERIES AND SERIAL
NO. AND ANSWER SHEET SERIAL NO. IN THE
ATTENDANCE SHEET CAREFULLY. WRONGLY FILLED
UP ANSWER SHEETS ARE LIABLE FOR REJECTION AT
THE RISK OF THE CANDIDATE.

This Test Booklet contains 100 items (questions) in both
English and Odia version. Each item (question) comprises
four responses (answers). You have to select the correct
response (answer) which you want to mark (darken) on the
Answer Sheet. In case, you feel that there is more than one
correct response (answer), you should mark (darken) the
response (answer) which you consider the best. In any case,
choose ONLY ONE response (answer) for each item (question).
In the case of discrepancy in the meaning, the English

version will prevail.

You have to mark (darken) all your responses ONLY on the -

separate Answer Sheet provided, by using BALL POINT PEN

(BLUE OR BLACK). See instructions in the Answer Sheet.

(i) All items (questions) carry equal marks. All items
(questions) are compulsory. Your total marks will depend
only on the number of correct responses (answers) marked
by you in the Answer Sheet.

(ii) There will be negative markings for wrong answers. One-
Third (0.33) marks assigned to a particular item (question)
will be deducted as negative marking for every wrong
response (answer).

(iii) If candidates give more than one response (answer), it will be
treated as wrong response (answer) even if one of the given
responses (answers) happens to be correct and there will be
same penalty as above to that item(question).

Before you proceed to mark(darken) in the Answer Sheet the

responses to various items (questions) in the Test Booklet, you

have to fill in some particulars in the Answer Sheet as per
instructions sent to you with your Admission Certificate.

After you have completed filling in all your responses on the

Answer Sheet and after conclusion of the examination, you

should hand over to the Invigilator the Answer Sheet issued to

you. You are allowed to take with you the candidate’s copy /
second page of the Answer Sheet along with the Test Booklet,
after completion of the examination, for your reference.

10. Sheets for rough work are appended in the Test Booklet at the end.
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Which of the following statements are
correct in respect of ‘New Criminal
Laws’ enacted by Indian Parliament?

(1) The new criminal law’ Bharatiya
Nyaya Sanhita’ came into effect
from April 1, 2023

(2) Bharatiya Nagarik Suraksha Sanhita
replaced the Indian Penal Code

(3) Bharatiya Sakshya Adhiniyam
came into effect from July 1, 2024

(4) The Bharatiya Nyaya Sanhita was
passed by the parliament in
December, 2023

(A) land4
(B) 2and3
(C) 3and4
(D) 2and3

Pick up the wrong matching of Brand
Ambassadors for Government led
companies

(1) DiaMirza
(2) P.\V.Sindhu
(3) Amitabh

Swachh Saathi

Pulse Polio

City Compost
Bachchan Campaign

(4) Sachin Make in India
Tendulkar

(A) land3

(B) 2and4

(C) 2and3

(D) land4

1
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QUG I°AG QIR Y16 62IR3A! ‘GO AT
angaq’ (New Criminal Laws) 2gaia
56019 699 ABAYgER 0] ?

(1) «<ga 1 e1dd 2023 adeieq |09
ZAQRIS BNEAN ‘VAGIR KIS QTSI
QUAYLIQ! caR!

(2) «@eo1a 6ARIR 6RIC, 6] VURAGG
QIR godl ATl I 2R

(3) 1 gaa 2024 Q @1ee19 QIYY G’
QLI 62R

(4) @eana 2023 62 QUISIL RYIL A°LG!
Q°AER ARG 6L

(A) 164
(B) 263
(C) 364
(D) 263

deRIQ1 JdAQIRG QMR AYEA Gm LU
aiaea (Brand Ambassadors) ge@ a@
Qa |

(1) Qi édl - Qg Q@i

(2) d8aqg - IRQ 6aIRAG

(3) aficwm Qe - QT Qesig QuIea
City Compost
Campaign

(4) QB 60Rea - 69] AR /&2l
Make in India

(A) land3

(B) 2and4

(C) 2and3

(D) land4



Which of the following statements are

correct inrespect of ‘Earth Rotation Day’

- 20242

(I) The Earth Rotation Day is
celebrated on January 8" of every
year

(2) This day is dedicated to
acknowledging the discovery of
Earth’s shape

(3) This day is also celebrated to
acknowledge Earth’s natural beauty

(4) Honouring the discovery of our
Planet’s movement

(A) 2and4

(B) land3

(C) 2and3

(D) land4

Which of the following statements are

not correct in respect of Sheik Hasina

Wazed, who resigned as Prime Minister

of Bangladesh on August 4"2024 ?

(1) She was the Prime Minister of
Bangladesh for two decades

(2) The students protest against Job
Quota turned into anti-government
agitation

(3) The Supreme Court of Bangladesh
gave a ruling of 30 per cent
reservation in jobs for descendents
of those who participated in 1971
Bangladesh Liberation Movement.

(4) Sheis the President of ‘Bangladesh
National Party’ supported by
Jamaat-e-Islami +

(A) land3

(B) 2and3

(C) land2

(D) 2and4

CSP-1/A
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‘Qyet a19es @9a-2024 ‘Earth Rotation
Day’ a26ga16a f69Ig 694 Aaeyges a21d ?

(1) geed aigaial 8 GIdsiea Qas! aIees
Qeq aIFe g9

(2) 9aee a1l 2191 RANGE T Fead
Q2190 62188

(3) qa1a gIgbe edledia Q19T QsR4isR
Ay N2 @99 AIRG 621K

(4) 210 gea 98 aReIa AMeea 1@ 99Q
QRIS QIR

(A) 264
(B) 163
(C) 263
D) 164

29 4 0Rd 2024 6@ QRIS QUIKART
Q9Q AL 69RYC| 699 TR GIEFYE 6TGER
Q6718 699 A2NGER 0] 96¢ ?

(1) 6Q 9@ @9R 2@ QIRICIIN QUIRART
gem

(2) 219969 A°AMa UGl FQIER
2188IIAI6R @QAQ g AaRIq-
Q6QRI 2ICRINFER TRES 6a!

(3) erqsas gda eaic 1971 Qraices 98
UICRINGER QTR A°GIFIAINE
QERAA AQ IR 6386a @exel 30
QIS QTG TR 9P FELARIA FIRRER

(4) SAG-2-2QNEF AALE ‘AR FIF1E
90'Q 64 62288 ARTT

(A) 163
(B) 243
(C) 162
(D) 264

[P.T.O.



The Paris-2024 Olymic Medals contain
metal from which iconic landmark?

(A) TheMontBlanc
(B) The Eiffel Tower
(C) TheArc de Triomphe

(D) The Pantheon

Which of the following statements are
correct in respect of ‘Olympic Flame™?

(1) The Olympic Flame is the symbol
of Unity, Sportivity, and Victory

(2) The Olympic Torch s lit in Greece
and passed from one to the next
torch bearer to reach the hosting

city

(3) The 2024 Olympic Torch was lit on
16" April, 2024

(4) The modern Olympic Torch Relay
was conceived by Dr. Carl Diem of
Germany

(A) 2,3and4
(B) 1,2and3
(C) 1,3and4

(D) AllFour

CSP-1/A

QIaQ-2024 2Rfq cACIRGES 699 @
ge1eq AIQ dId Q2RI ?

(A) < a¢ 9= (The Mont Blanc)
(B) @ <eon siaia (The Eiffel Tower)
(C) < 21e%ges (The Arc de Triomphe)

(D) < ages (The Pantheon)

2RfiQ A4IR 69GER F6QI9 69Y NSRS
0% ?

(1) 2RA] AR 6208 IRG, 631g2Ie QI
3 IR0 9oL

(2) 22QfR A4IR 916 JTFC 62ARAN 9e°
<2 R9Q0IQ J998 AIRUAIE QI
216AFFRIQ1 A2A6R aLBag

(3) 16" 3@m 2024 ca 2024 2Q#] A8IN
JIne QA

(4) ediGa @8 QIR PR YA AES ARFRQ
A9IR QER ARG FAUAIREM

(A) 2,364
(B) 1,263
(C) 1,364

(D) aag osaica



Which of the following statements are
correct in respect of ‘Rashtriya Vigyan
Puraskar’?

(1) This Puraskar was instituted by
Government of India in the year
2023

(2) This award is given in four
categories

(3) Vigyan Team Puraskar is given to
five teams

(4) For the year 2024, in the field of
Space Science and Technology
‘Vigyan Yuva Puraskar’ was given
to Four Scientists

(A) land3

(B) 2and4

(C) 2and3

(D) 1and2

Which Bank was included in the 2024
‘Fortune Global 500 List® for the first
time?

(A) HDFC Bank

(B) State Bank OfIndia

(C) ICICIBank

(D) AxisBank

CSP-1/A
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‘UYL FBIS A’ 68G6Q F6LIQ 699
aeygee 0q ?

(1) <2 geela @ee daeee Qi 2023
Ad216Q Jodl @QUAIQER

(2) <€ 9Qeea 916QIF Qdea gl
AN

(3) B Gag RIe T7 9olI] dIIe
FUQAINAN

(4) 2@ IR 6 ggadw cagea 2024
Qd IR Q10 Q4 IRRRG TBIS
Je%IQ’ gele *aIsR

(A) 163
(B) 264
(C) 263

(D) 162

2024 6 622 Q4IF, TR 6qIIR-500 cI@e
(Fortune Global 500 List) 6a 2899
c2RI ?

(A) 99 @9z d e
(B) eac qyie ac a8l
(C) uedzaldzia ve

(D) gq s

[P.T.O.



10.

Which of the following statements are

correct in respect of Union Budget

2024-25?

(1) Total expenditure projected at
Rs.48.21 Lakh Crore

(2) Receipts excluding Borrowings
Rs. 32.07 Lakh Crore

(3) Fiscal Deficit projected at 6.8 %
of GDP

(4) Net Tax Receipts Rs. 34.83 Lakh
Crore

(A) land2
(B) 2and3
(C) land4
(D) 3and4

Which of the following statements are
correct in respect of ‘International
Everest Day’- 20247

(1) May 29" of every year is observed
as ‘International Everest Day’ in
memory of Tenzing Norgay

(2) This day was first observed by
Nepal in the year 2008 in
commemoration of Tenzing
Norgay who passed away on this
day

(3) Since its inception, this annual
observance has become a global
celebration of human endurance
resilience and the spirit of
exploration

(4) Edmund Hillary was a Swiss
National

(A) 2and4
(B) land2
(C) land3
(D) 3and4

CSP-1/A

10.

209 96a6 - 2024-25 adegaieq G619
609 A994gEe 0Q ?

(1) 6918 Qi 26ae 6208 48.2]1 aa 61T
o

(2) @& 4016 ageia 91§ adaie 32.07
AR 6QIT O

(3) #.8.6.(GDP) a 6.8 % 21gde Fae
(Fiscal Deficit)

(4) eee qieq 9§ 34.83 aa 6
(A) 162
(B) 263
(C) 1a4
(D) 364

2RFIO10 160698 9a-2024 gasea 86919

69Q AsSygee Qad ?

(1) 6e& asde ¢.06a goed 6a 29 69
2RRI010 Y6Q6QE T9Q ARG 6212

(2) 69G° q6el G4 QQ @1 IR *TAER,
oIea 9.662 gaesa 2008 adeisa @
@9Q 60UIR QA AIRS 6RIRIAR

(3) 921Q 9BFIRIRg Y2 QIER AIRR QIR
6ddy, 9@l B 26QAEA I A62IAQ
QIFEQ ARAGIG 62102IYE

(4) g4 TAIE 62988 gREARILR FITTR

(A) 264

(B) 162

(C) 163

(D) 364
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11.

12,

13.

As per the Data released by Ministry of
Health and Family Welfare, which of the
following States in India topped the
country in Organ Donation in the year
20237

(A) Karnataka
(B) Tamil Nadu
(C) Maharashtra
(D) Telangana

Which of the following statements are
correct in respect of ‘Goldman
Environmental Prize’?

(1) This Prize was established in the
year 1989 by American couple
Richard and Rhoda Goldman

(2) This Prize is awarded to honour
grassroots environmental leaders
of Global recognition

(3) Prafullah Samantara is awarded this
prize for the year 2024 from India

(4) This prize comprises of a cash prize
of $5,00,000

(A) land2
(B) 2and3
(C) 2and4
(D) land4

The name of the Artificial Intelligence
(AI) powered News Anchor developed by
the ‘India Today Group’is

(A) Sana
(B) Persana
(C) Baani
(D) Anania

CSP-1/A

H.

12.

13.

gigy 6 891 YYIE AREIRA QA IRJE
aIegel g2y agaial 2023 6q QUG 68K
gy agrele (Organ Donation) 6996@
QASI6g QTS ?

(A) ediea
(B) cifasig
(C) aeiug

(D) cosaeql

calReaye aa69d 9aala (Goldman
Environmental Prize) 68g6a 86418 62Q
A8Qugee 0] ?

(1) <2 gawia 1989 ca 216AdqIa Q9I¢
3 621 CUIMPYIE QfRE QAU B
aIR@

(2) <Qagra Sggals af6Qd gRAIRIQT Q&
QFRAIGT ARIFIEE Y@ YAl g}
QAUAIRAIN

(3) 2024 <F QIR QS TR ATSAIF
% 9oIa 998 @QIQIQE

(4) <2 Qomiea 28 Qi adald 6298 5
AY ORI

(A) 162
(B) 263
(C) 264
(D) 164

82l gee ga QIal aede gan gfaal (Al)
Q89 QRIQ AITAR FIF

(A) <igi(Sana)

(B) aeaiqi (Persana)
(C) <ign (Baani)

(D) @2aay (Anania)

[P.T.O.



14. Which of the following statements are
Correct in respect of “Vantara’?

l.

!\)

(A)
(B)
©)
(D)

[t is national initiative for

afforestation

This initiative was launched by
Reliance Industries and Reliance
Foundation

It is started in Green Belt of
Jamnagar Refinery Complex,
Haryana

Vantara also aspires to become a
leader in wildlife conservation

1 and 2
3and 4
2and 4
land 3

15. Which of the following statements are
correct in respect of ‘ Alliance of Sahel
States’?

(D)

(2)

3)

4)

(A)
(B)
(©)
(D)

CSP-1/A

It is a Confederation formed
between three countries namely
Mali, Niger and Burkina Faso

It originated as a Mutual Defence
Pact created on 15" November,
2021

All the three member States are
former members of ‘the East
African Community”.

The Confederation was established
on 6" July 2024

land?2
3and 4
2and3
1 and 4

14.

15.

‘QRGIQI UGBTI F6RIQ 699 A2RIGYRR

oR ?

1.

(A)
(B)
(€)
(D)

QA6QIT4/QF1FQ8 €ACEQ 1Ll IR
@ Q1 deead

ARNKAY Q488 6 ARNNAY TIREAAR
QA 2 Q6 QA TIRUMI

IR ATIRRIQL. @68% (Jamnagar
Refinery Complex) eaaicia age
QRAEQ 12! 2IRA AT

QRYE] VS 6TSER 2GS YAl AL
QA% QI @AVIAI FIM AR ARRIT QYR

162
364
264
163

Qcen aisigeesa 6a1¢ (Alliance of Sahel
States) a@6gaIea F6gI9 624 A8UQER
o] ?

(1)

(2)

3)

4)

(A)
(B)
(©)
(D)

IR, FINEE] B QR TI6A FINR BF
6Q41Q 6aR Y2 R ACARE

15 qeana 2021 6@ 92! 9@ AIRQAL
goaal @8 QUIER SgRIe @aam!

ge 21GNNa 6qIFIQ I8 TF AQAY Qg
62083 996 A9Qy

g2 a6aqe 6 gRia 2024 sq gode
6QIRUMI

162
364
263

164
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16. When was Mahatma Gandhi declared
“Father of the Nation”™

(A)
(B)
©)
(D)

20" July 1946

12% August 1947
15™ March 1948
Never, officially

17. India, as everyone knows, is a multi-
lingual country. People often know three
or more languages. In this context, which
of the following statements is more
correct?

(A)

(B)

(©)

(D)

In India about a quarter of the
population is bilingual; and about a
tenth is trilingual

In India about half the population
is bilingual; about one fifth is
trilingual.

In India about a third of the

population is bilingual; about a
tenth is trilingual.

In India about three fourths of the
population is bilingual and about a
half'is trilingual.

18. Bhatri, Bhuiya, Desia, are analogous to

P.
Q.
R.
S.
(A)
(B)
(€)
D)

CSP:-1/A

Bagri, Bhateali, Kahluri
Chakma, Haijong, Rajbangsi
Awadhi, Bagri, Bhagoria
Gujrau, Pattani, Ponchi

P and Q butnotR and S.
QandR butnotPand S

R only

P,Q.RandS

16. QQQING 6268 ‘FTA FOQ €M 6IVA

17.

18.

FRUAIRR

(A) 20gaia 1946

(B) 12ace 1947

(C) 15qis 1948

(D) 2Ig9@Ee QUER, 696Q Q6L

QAALG, 69T QZRIV1 6941 6QIR AFEY RIEE |
FAARJIQE QARIIAESE BF QI AYR VUV LLIR

Q98 | 92 9R6gIIea F6qI9 69 AT 0]
a6s ?

(A) UGG FFA°HIIQ 99 9EUIFERIR FQUT;
qQ° U@ Q41 GRIFT

(B) <ioe @aa°avia gia 2l YauaT; gIg 9@
ABAI°E GRIF1T

(C) @190 FRA°HIQ I FO1AI1°6 QRIFT; IR
R Q4918 GRIF1

(D) [UQe FRAIIR 68 0QdIra {RIal 6
gig 2 GRS

QQ1, 9, 69321 699 g 92 ANRY ?
P. <igl, QeeR, 2298

Q. oR9l, AR, AUFL°4!1

R.  agu, «I1g1, «uesiqall

S. geaR, agIg, 6aIE

(A) PeQ@gR @3S gee

(B) QsR@gPaSqgse

(C) s=ee R

(D) P,Q,RaS

[P.T.O.



19.

20.

21.

What was the Lahore Resolution (1940)
about?

(A) A united homeland for Muslims
(B) Supporting the British war effort
(C) Demand for linguistic provinces

(D) Allofthe above

The demand for linguistic provinces was
first floated to ensure that

(A) People speaking a particular

language got recognition.

(B)

For bringing the administration
closer to the people.

©)

To promote linguistic division of
India.

To reduce conflict within the
country.

(D)

The British East India Company
considered itself to be the paramount
power in India after

(A) Defeating Sindhia in 1803

(B) Signing a treaty with Ranjit Singh

in 1809
©)
(D)

Defeating Bhonsale in 1818

Suppressing the uprising of 1857

CSP-1/A
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19.

20.

21,

Qieeie gaie (1940) @'a aml ?

JARAIRAIGE IR 99 9Rg IAgIe

(A)
(B)

354 98 ayag ande

QUVRR geeaaI Q@

©)

(D) «asaig ag

AVIPER g6E TORQ AT gass 6998 Al
c2IRARI

(A) 606 7ag QT AR 6RINAING F1GT
gale

(B)

EMIRFIRE AISIEq gaIdeq AL8Iael

©

QA NVVER FVIRY 69122

(D)

6Q9006Q QLYY 219 AR

WAAGER 6969017 59 2F Qdal IR BRQ
A6AIe FAGI 681 IoIQ QAaAR ?

(A) 1803 sa dRaIg aalg @@

(B) 1809 6a aa@ed ew 492 QIERIF QISQ
=la

(©)

1818 ca cniacng aaig @8

(D) 1857 sa @6Qi2 90 @&



22,

23.

24.

The first modern judicial court in India
presided over by Elijah Impey was set up
in

(A) Murshidabad

Patna

(B)

(C) Kolkata

(D) Dhaka

The motto, “Yato_dharmastato Jayah™ has
been adopted by

(A) The Lok Sabha ofIndia
(B) TheRajya Sabha of India
(C) The Constituent Assembly of India

(D) The Supreme Court of India

an institutional arrangement to
keep Science, Society and Industry on the
same page” was said about

(A) ThellTs

(B)

The Department of Science and
Technology

(C) TheTIFR

(D) TheCSIR

CSP-1/A
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22.

23.

24.

YRR QEHE 2RUFGIER AR AN ARYER
8 ARG 6RA0IER TS FALIRYRI ?

(A) qgderi@
(B) aiegl
(C) samae!

(D) @<l

‘9681 AF g6Gl KR8’ QAT RITIQIAI F24
QAUAIRE ?

(A) @UAEA eRIKARXI
(B) @19e9 QUaiQsl
(C) e@leee dANGe Q9

(D) «Ueea Q6T FHIAIRA

SRIR, AAIe 6 dgq AAIRIEIER IR0 QYRIG
4R 2I9YIRR 4Gl 691R QLIAIRT |

(A) 22es
(B) Q®ie @ 63ade Q9
(C) TIFR

(D) CSIR

[P.T.O.



25.

26.

27,

Direct Action Day refers to

(A) The day ear-marked by the Muslim
League for taking direct action to
assert their political demand for a
separate homeland for Muslims

The day ear-marked by the Indian
nationalists to oust the British
from India

(B)

The day ear-marked by the
Scheduled Castes Federation to
protest against social injustice

(©)

(D) Allthe above

One of the earliest mentions of
Bharat varshais in

(A) The writings of Ptolemy
(B) The writings of Fa Hien
(C) The Hathigumpha inscription

(D) TheAjanta Caves

This place is known as the city of caves
(A) Ajanta

(B) Ellora

(C) Udayagiri

(D) Gharapuri

CSP-1/A
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25.

26.

27.

gous QT 926R @'¢ QEId ?

(A) qARAIRAIeT AR Ja] QAYIF QTR
JARARG QA geus Iy 2R 6FR
9%¢ @99

(B)

QIN0Q A°6ASE LTINS AR RASID
FIRALIRINNINT QA 56 Teq

©)

AIAITS UYL TERUUER 2R RIS
f219al QIR 98¢ @ed

(D) <asaig ag

QI0eEQ JITINGF ATIQ 6RVAER 6RIRE ?

[/ la=gNal]

(A)

TILARS 6RS!

(B)

©)

YT 2AVENS

(D)

2K Gl

699 28R ‘G 429’ 6 93 ?
(A)
(B)
(©)
(D)

2Sal
q6RIQ
Qeada

29gQ



28.

29.

30.

CSP-1/A

“Kattaka caves™ referred to, among others

P

Q.
R.

WA

(B)
©

(D)

Hathigumpha and Ranigunmpha
Kumari Parvata
Alakapurigumpha
Mahendragarh

P, Q and R but, not S

P and S but, not Q and R

Pand Qbut,notRand S

P,Q,RandS

The Kalinga Prize is given for

(A)

(B)

(€)
(D)

Achievements of a scientist

Achievements of a science
popularizer

Achievements of a geologist

Achievements of a mathematician

The achievements of Pandit Gopabandhu
Das are in the field of

(A)
(B)
(€)
(D)

Science

Law

National Movement

All of the above

28.

29.

30.

‘AER GAIAIRI AKY 69AALY §XIRAN ?

P,
Q.
R.
S.
(A)
(B)

(©)
(D)

2019 B QUGS
gaIa1 99Q

2ARRAYQT G5!
F162Q4613

P,QBR &g Sqse
P3Sa@g QBR ges
PsQ@ag R3S ged

P,Q,RaS

QR JAA 6RAAIN TAIAN ?

(A)

(B)

©)
(D)

@6¢ 6TRINAS §TQ

F64 IRIG AT @R2Q AT
09

68 YERELS Q6Q

@64 QdoRe QoQ

6QIDSQ QI 694 6AGER O] YIEIR QPSR ?

(A)
(B)
(®)
(D)

IR
2198
RAVIA 2IERIRS

QUERIY AQ

[P.T.O.



31.

32.

33.

Zero Casualty At Any Cost (ZCAAC) is
a principle followed by

(A) The United Nations
(B) NATO
(C) Government of Odisha

(D) SAARC

Porus is said to have gifted Alexander a
(A) box of mangoes

(B) diamond

(C) block of steel

(D) cotton shirt

The famous architect Bisu Moharana is
associated with

(A) SunTemple at Konark.
(B) TajMahal.
(C) Brihadeeswara Temple

(D) Rathas at Mahabalipuram

CSP-1/A
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31.

32.

33.

606Q16d AMYea gay aerarel (ZCAAC)
Q16g @4 924 @a8d ?

(A) §%0 eieaa
(B) «ies1i (NATO)

(©)

(G4 AR

(D) a=(SAARCQC)

ARG YQ 692 AU 6TRUEM ?
(A) 2ne@ &

(B) e

(C) qa e

(D) gelalg

gae dg1/gat 8¢ ALIRdI Q121 AL A°gQ ?
(A) eqIda gdifRa

(B) ocieaza

(C) <queeega aka

(D) agefigaaa e



34.

35.

36.

At the end of the Civil Disobedience
Movement Gandhiji took out a padyatra
against untouchability. His first padyatra
was undertaken in 1934 in

(A)
(B)
(©)
(D)

Nagpur
Noakhali
Jharsuguda

Thanjavur

The infamous Rowlatt Act was opposed
by Indians because it provided for

(A) trying of sedition cases without a
jury and holding suspects in jail
without trial

(B) opposing the Indian national
movement

(C) hampering the economic growth of
India

all of the above

D)

Which of the following bauxite deposit
is considered as the largest one in India?

Riasi and Poonch deposit (Jammu
& Kashmir)

(A)

(B) Panchpat mali deposit (Odisha)
©

(D)

Gandhamardan deposit (Odisha)

Balaghat deposits (Madhya
Pradesh)

CSP-1/A
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34.

35.

36.

2IRR UAUGY 2ICRINAR 69F6R ARG, AFAS!
Q6QRIEQ 9@ QG [ | QIF] gan
aggigl 1934 6q 600 c2IReMI ?

(A) @999
(B) gqasi@
(C) wiegqel

(D) c=mge

age agiee, 21ee (Rowlatt Act) q
QUAGIAAIER 6RRYAIR F6AUX FQAEA ?

(A) T0IQ Q1 6QE6QI2 AR B IR FFIAER
dRQg LAY

(B) «uee1a @1o1a a°giag Isal
(C) @eoq e 661 QI
(D) <gsqig ag

FORYe FRAIRE ZQ AIRTY 6RNE VNG
Q2e AR TRIR QAUAN ?

(A) Qa@ 6 gy °ge (19 8 QI1g1a)
(B) asae aR a°ge (6g4!)
JeaIRe age (6341)

©)

D)

QRIS A°gL (Augeas)

[P.T.O.



3.

38.

39.

Which states share the Tungbhadra
Multipurpose project?

(A) AndhraPradesh and Karnataka
(B) Karnatakaand M.P.

(C) Odisha and Jharkhand

(D) Tamil Nadu and Karnataka

Match List T with List IT and select the
correct answer using the code given below
the lists:

ListI ListII
(a) Chinook 1. USA.
(b) Sirocco 2. Australia
(c) Brickfielder 3. Europe
(d) Mistral 4.  Africa
Codes :

(@ () (¢) (d)
A 1 4 2 3
M) 2 3 4 1
< 3 2 1 4
M 4 1 3 2

The only landlocked country in south-
east Asiais:

(A)
(B)
©)
(D)

Laos
Thailand
Vietnam

Cambodia

CSP-1/A

16

37.

38.

39.

QEragl QLN gegq 699 QIRY QT QlaF ?
(A) 2199694 6 *¢IgQ

(B) <4dieq 6 augeas

(C) 634al6 e

(D) ofaqig 6 agiee

ciRel I a2 ol I @ acaig @9 6 QIRKIS
G6R QALIRIR 6918 MYLIQ }Q 0] Q@R
99e @Q |

cime I eimel 1T
(a) ©g= 1. goig aienaea
(b) Qsaueal 2. egRel
(¢) Q] Iae9 3. gsaia
(d) dam 4. 2@l
61g (Codes) :
@ (® (c) (d

A 1 4 2 3
B) 2 3 4 1
© 3 2 1 4
M 4 1 3 2

6997 @B4-99 d2Ia 9Uacde 694 6208
(A) @ueg

(B) aeqe

(C) @deqin

(D) esai@a



40.

41.

Match List I with List I and select the
correct answer using the code given
below the Lists:

List I List IT
(Australian States)  (Cities)

(a) Queensland 1. Adelaide
(b) SouthAustralia 2. Brisbane

(¢) Victoria 3. Kalgoorlie

(d) Western Australia 4. Melbourne
5. Sydney
Codes :
(a) (d)
A 2 5 4 1
@) 3 1 2 4
< 2 1 4 3

M1 5 2 3

Which one of the species is an example
of extinct species?

(A) Asiatic Cheetah

(B) Black Buck
Crocodile

(©)

(D) Indian Wild Ass

CSP-1/A
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40. oRe Il a2 2159 [ @ a6aIe |9 6 IR

41.

Q6R TUIAINYGI 618 NITIQ [6 A0 e
Qa8 Q9 |

S | oimel 11
(AR QUNIYSR) (ALQYESS)
(a) qQagaiie 1. 2l6eRIeQ
(b) <faacg@al 2. §I69]
(c) @sqRal 3. @Rgd
(d) adaasgRzl 4. 6aAa6ald
5. agd

6@19 (Codes) :

(@ () (¢) (@

A 2 5 4 1
B) 3 1 2 4
© 2 1 4 3

M1 5 2 3

BARYC gRISE FIQ 6990 QY 9FI5 RIILAE
26Q ?

(A) 39T o0l
(B) qeaiqe
(C) gqaa

(D) «ieeia &y al

[P.T.O.



42.

43.

Which one of the following pair is not
correctly matched?

Month Position of Sun

(A) June Midday Sun overhead

at tropic of Cancer

(B) December Midday Sunoverhead
at tropic of
Capricorn

(C) March Midday Sun overhead
on Equator

(D) September Midday Sunoverhead

on Arctic Circle

Which one of the following term
describes not only the physical space
occupied by an organism, but also its
functional role in the community of
organisms?

(A) Ecotone

(B) Ecological niche

(C) Habitat

(D) Homerange

CSP-1/A
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42.

43.

26 Q2QIQAR! 6AIFAINT FYER 6990 0K
6ARS 6% ?

I qaue ge

(A) ge ARIYPRQ gLy FRCRIBR
qe asa

(B) @eana AIYGQQA gAY FRAIER
ge Qa6Q

(C) a@ auygea gdy Sgesas|
Qa6Q

(D) 6a6qna aaydea gdy geaq

9 QUERQ

AARYS FlYQ 6RAT 64ITY 19 QIR 6R9R
JIN1RR gRg 2UQYEF AEFI F6Q IF, 92! F19Q
QA6R LR QILY AR FAAG A A4l [6Q |

(A) «691691@ (Ecotone)

(B) asqieqiacia @ (Ecological niche)

(C) aciags

(D) qe adae



44. Inthe grasslands, trees do not replace the
grasses as a part of an ecological
succession because of
(A) Insects and fungi
(B) Limited sunlight and paucity of

nutrients
(C) Water limits and fire
(D) None of'the above

45. With reference to the food chains in
ecosystems, which of the following
kinds of organism is / are known as
decomposer organism/organisms?

1. Virus
2. Fungi
3. Bacteria
Select the correct answer using the codes
given below.
(A) 1only
(B) 2and3only
(C) land3only
(D) 1,2and3
CSP-1/A
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44. Qa9fea 91 Q1A 9F] IR AIRFER 2gara

45.

Q@ 2°¢ RUES ITSRT F6Q FIR QG -

(A) @196 a@ (Fungi)

(B) <98 944@04 G 6019 09 2R

(C) Qasrcad

(D) @Q6RIg g 690e gL

6@l dqq (Ecosystem) 6@ @iy §sral
2RINER, TR FUKINYR! AT FUYQ
6996 2AASR F1Q VIS SIS ?

1. @eaq
2. o@ (Fungi)
3. Quieqaal

FIEQ R 6P NIA *Q A0} AQQ AR
@ |

6xee 1

(A)
(B) eee@ 263
ceer 163

©

D) 1,263

[P.T.O.



46. Which one of the following is the
process involved in photosynthesis?
(A) Potential energy is released to
form free energy
(B) Free energy is converted into
potential energy and stored
(C) Foodis oxidized to release carbon
dioxide and water
(D) Oxygen is taken, and carbon
dioxide and water vapour are given
out
47. Consider the following :
1.  Carbon dioxide
2. Oxides of Nitrogen
3. Oxides of Sulphur
Which of the above is/are the emission/
emissions from coal combustion at
thermal power plants?
(A) 1only
(B) 2and3only
(C) 1and3only
(D) 1,2and3
CSP-1/A
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46.

47.

RORYS ORAI AIRS ANg 6896 T6e1T6adqR
22399 269 1

(A) QF9ea8 90 98 969 396 g9

(B)

e 98 F9Q 4862 adeae 29 6
°QPE 68

ASIQARIG, B @F 66 @A QY
UFTR FERQ

©

(D)

LIS ged QAUAIN 9° AFIQARIC, G
QUIFILIR QULIQ QAL

FONYe Q I9IQ 29 |

L AT QAR

2. QIREGIERR Q AFIAS

3. dAgq R 2AQIRe

QAR AYQ 69T AR AIGIQ YLER 6RIQR
Q20Q fde 9 |

(A) e@9q 1

(B) eaen2 263

(C) eaer 163

(D) 1,263



48. Which ofthe following earthquake waves 48. TORYS Qg 69X QAN CQT 2XERLER

are more destructive at the epicenter? 2Q [E Q6 ?
(A) Swaves (A) <Q oQs
(B) Pwaves (B) @ eow

(C) Rwaves (C) aiq eqer
(D) Lwaves (D) <@ oaer

49. Jhumming cultivatifm is known as | 49 cog 286 /aigica ¢@° o9 (Jhumming
‘Kuruwa’ in which region/state? cultivation) Q@I (Kuruwa) @I6Q
*€Ig4l |

(A) MadhyaPradesh
(A) eangsad

(B) AndhraPradesh
(B) aiggses

(C) North-eastern Region
(C) @ea-9a-2se

(D) Jharkhand
(D) <iese

CSP-1/A 21 [P.T.O.



50.

51,

(©

Match the following :

(a) Loess 1. Riverdeposits
(b) Moraines 2. Glacier
deposits
(c) Gravels 3.  Wind deposits
(d) SandandClay 4. Sea deposits
Codes :
(@ (b) () (d

A 1 2 3 4
B3 2 1 4
Cc 4 1 3 2
3 4 1 2

Which of the following terms were not
the terms of 'August Offer - 1940'?

(1) A Nominated Indian Body would be
formed after the War to frame the
Constitution

Dominion Status was not the
objective of India

(2)

3)

More Indians representation in
Viceroy’s Executive Council

(4) AnAdvisory War Council was to be

established
(A) 2and3
(B) 3and4
1 and 2

(D) 1and4

CSP-1/A
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50.

51.

FONYC Q 6909 99 |

(a) s@rag 1. ea1 aeqele

(b) sequ6a8 2. gaQIe Q°qeie
(c) gean 3. QIg Q*gele

(d) <RGaT 4. QagQe/QI9Q Q°gL1e

6QlQ :

@ () () (@
a1 2 3 4
B3 2 1 4
€ 4 1 3 2

MM 3 4 1 2

Fande 692 adqle ‘aay ggie 1940’
(August Offer - 1940) @ 21298 Q6% ?

(1

JRAEQ 691G FI6RIR1S VG ARG

QRIS GI0% IR AQIAe

(2) Q6186 ANCI VRS ARG Q6%

(3) RAULT AL OFITEQ 2N
QAT gEFQ

(4) 6qIT9 g QAR AFET QOQ
QAUAIRER

(A) 263

(B) 3a4

(C) 1a2

(D) 164



52. Which of the following statements are

not correct in respect of ‘Constituent
Assembly’?

(1) Elections to the Constituent
Assembly were held in July-August,
1946
(2) The Indian National Congress won
208 Seats
(3) Muslim League won 73 Seats
(4) Princely States won 93 Seats
(A) 1,2and3
(B) 2,3and4
(C) 1,3and4
(D) 1,2and4
53. Which of the following matchings are
not correct in respect of Schedules and
Subjects in Indian Constitution?
Schedules Subjects
(1) I Emoluments for
C & AG of India
(2) I Allocation of
Seats in Council
of States
3) Vv Administration
and Control of
Scheduled Areas
4) IX First Amendment
of Indian Constitution
(A) land2
(B) 2and3
(C) 2and4
(D) 3and4
CSP-1/A
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52,

53,

‘afaice g’ (Constituent Assembly)
aR6gR169, F67IQ 689 ABYee O] g6 ?

(1) afiuGe aal i, 1946 gRIe-2ages

aQI98 6aIRaR
(2) «ueeia «ie1a @°6gd, 2088 Qe
S

(3) qQFa@a 73T 2198 g

(4) <efie 28e 935 2198 FoaR

(A) 1,263

(B) 2,364

(C) 13a4

(D) 1,264

ORYC 699 6QIFYER VG AR SRR

8 389 ategaIea O] 6% ?

SR [l

(1) I Qe CBAG®
6909

(2) I QAU AAVYLER
2IAR Q9R

(3) VI QY00 6RQYERER
ga1ae 8 GARE

4) KX QUG QAT gaIa
Q°6HIUR

(A) 162

B) 263

(C) 264

(D) 364

[P.T.O.



54. Which of the following statements are
correct in respect of Electoral College
in India to elect President of India?

(1) Itconsists of Elected Members of
Legislative Assemblies of
National Capital Territory of
Delhi, and Union Territory of
Puducherry and were added to
Electoral College by 70t
Constitutional Amendment

(2) The number and values, of votes
are based on the population of
1971 Census of India as per 42
Constitutional Amendment

(3) 84™ Constitutional Amendment
fixed the values of votes based on
current population Census 2011

(4) The entry of MLAs of NCT of
Delhi and Union Territory of

Puducherry came with effect from
June 1, 1993

(A) 2and3
(B) land4
(C) land2

(D) land3

CSP-1/A
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54. Q196 QIEUER FFI9R U1 RENEQYRRN FERR
gaAReq @69IQ 692 239Ee O] ?

(1) <26 6954130 289 geeed 6 RI1G
QRUAT UER Y A0S JUIARR
2999 6 qAueq 706a asdlue
2L REREQYAUR FERRG ACAITE

(2) <huea 4260 AeqiNe 2gaIA1 Ll
1971 929401 2IRIINER ENNTR A°FYI G
amy 99de

(3) <fuea 84 oa asaiae, 2011
FRAGR| 2RIAERA 6RATAT Y RIS

(4) 1993,ga1qaqia NCT 6 sagaide
2ER YQEOTa QuILRT NN

(A) 263

(B) 164

©) 162

(D) 163



55. Which of the following statements are

correct in respect of the genesis of the
‘Doctrine of Basic Structure of
Constitution’?

(1) This doctrine was first propounded
by Supreme Court in Shankari
Prasad Vs Union of India Case

In Sajjan Singh Vs State of
Rajasthan Case Supreme Court
held that Parliament could amend
any part of the Constitution

In Golaknath Vs the State of Punjab
Case Supreme Court ruled that Art.
368 only lays down the procedure
to amend the Constitution but does
not give an absolute power to
Parliament to amend any part of the
Constitution

In the case of Waman Rao Vs
Union of India Supreme Court set
aside the basic structure doctrine

(2)

3)

(4)

(A) land3
(B) 2and3
(C) 2and4
(D) land4

56. Which Four Articles of Indian
Constitution among the below given
Articles were added to the Indian
Constitution by the 42 Constitutional
Amendment Act of 1976 ?
(1) Art.24(A) (2) Art.28(A)
(3) Art.39(A) (4) Art.43(A)
(5) Art.46(A) (6) Art.48(A)
(7) Art.144(A) (8) Art.323(A)
(A) 1,3,5and7
(B) 3,4,6and7
(C) 2,5,7and 8
(D) 1,3,5and 8

CSP-1/A
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55. Q6919 699 28969 qfIea 6Alaw g8l AR

56.

(Doctrine of Basic Structure of
Constitution) gagrea 0K ?

(1) <2 deie, gaen d6Qie YIRS QI
JSQ1 gIQ AR 608 AR FIARNIER
QUIQIQERI

QI AARY A8e T° 9RIF USSR
QUFY AIARNIEA AL, AAJFR 6AERET
Z°8 Q°6EINE QEAINER 6N QI
EQRIAEN

(2)

(3) sam@qd 9QIA AGIS AR ANNIER
Q6]IQ MINIRG QUG 6QRIAA 64, AN
368 6a 6296 QRIS A°EAUTR LI
28, @g 9°aeq ARG 64 66T 2°aIg

QeealRIR QIR 94 86! FUIAIRRIE

4)

BAIR QUG QRIF 699 AR AINIER
QRS MIARL 69117@ 0% TRISA ARIQ
Q26R

163
(B) 263
(C) 264
(D) 164

(A)

B60Ig 699 SIR6TIT I, VNGIA ARUIN
4200 Qfiale aediag diQl 1976 ariesa
2399 6TIRAN ?

(1) aiou24 (A) (2) w28 (A)
(3) ui39(A) (4) w43 (A)
(5) w46 (A) (6) a4 (A)
(7) wier 144 (A) (8) w323 (A)
A) 1,3,5a87

(B) 3,4,6a67

(C) 2,5,768

(D) 1,3,568

[P.T.O.



57. Which of the following statements are
not correct in respect of Union List of
Seventh Schedule of Indian Constitution?

(1
(2)

3)

(4)

(A)
(B)
©)
(D)

58.

There are 100 subjects in the List

This List signifies Co-operative
Federalism

There are 15 subjects in the Union
List on which Parliament has an
exclusive power to levy Taxes

The Supreme Court has no
jurisdiction over the matters in
Union List

1 and 3
l and 4
2and3
2and 4

Which of the following are Non-

Constitutional Bodies in India?

(1)
(2)
3)
4)
)

(6)

(A)
B)
(©)
D)

CSP-1/A

Tribunals

National Investigation Agency
Competition Commission of India
Law Commission of India

National Commission for Scheduled
Tribes

Comptroller and Auditor General
of India

1,5and 6
2,3and 4
3.5and 6
2,4and 5

26

37

58.

F69IQ 699 RQAYER, QARSI AANFQ AGH
ge1 2RINECA 608 GINRI agaIs O] g6¢ ?

(1)
(2)
(3)

(4)

(A)
(B)
(©)
)

cldeiea 100 & Jea 28
CIRRIT AAQIL A°YIARING ILIRR

carRoIAqea 15 § wad e 28 el
QUER QAL GOR ANSI AREQ TeaILY
RQAAIGe

6ROOING FAACA AR QUISIRA 6RO
2g6”4a QaaIde /@

163
le4
283

264

FAAUIQ 6R9GER @Qe6a ZaAANF
aqge ?

(1)
(2)
3)
(4)
)
(6)
(A)
(B)
©
(D)

SQueIg

K016 2QARIE Q°gl

AR gocIdel afaq
QAR 2R} 2FAe

2990 ReRRR K918 |FaR
A FLRD 6 AVCRHIFIQ

1,566



59

60.

Which of the following statements are
not correct in respect of the Election
Commission of India?

(1) Art. 327 gives power to Parliament
to make provision with respect to
elections to Legislatures

Besides Chief  Election
Commissioner, two Additional
Commissioners were appointed for
the first time on January 1, 1990

(2)

The Election Commissioner
Amendment Act 1990 made the
Election Commission a Multi-
member body

3)

The decisions in Election
Commission by the members are
made by unanimous vote.

4)
(A) 2,3and4
(B)
©)
(D)

1 only
1,3and 4

1,2and 3

The Impeachment of Indian President in
the Parliament is a

(A) Political Procedure
(B) Legal Procedure
(C) Quasi-judicial Procedure

(D) None of these

CSP-1/A

59.

60.

27

F6019 606 A89Ee @eea FJleR faR
aGiegaIea O] g6€ ?

(1)

gl 327 aeaeq JuIe avl IR
QSQIQ TAC! 6998

(2) q&ii AQIeQ *fideas GG 9R 20T
efareg gan e aix 1990, KIgaiat

1 62 G99 @AM

fdlee efaaq aegrg uel 1990,
AQIee @fidqg 9gAeqy 98 tam

(3)

q9I08 @fidnea F9Rgee QeIAIRE
A2AE NG 2ARIFER Q1R

(4)

(A) 2,364

(B) seee 1
(©)

(D)

1,364

1,263

QAGER NACA AULAE ALINECAIT 2B~

(A) <Ieehoe gaal

(B) aieeae ggal

(C) aue-qude gae

(D) 691636 Q6@

[P.T.O.



61.

Which of the following statements are

not correct in respect of Advocate
General in India?

(1)

(2)

3)

(4)

(A)
(B)
(©)
(D)

62.

The Advocate General is the
highest Law Officer of the State

He is appointed by the Governor on
the advice of Chief Justice of High
Court

He should be eligible to be
appointed as the Judge of a High
Court

He/She should not be more than 65
years of age.

1 and 4
2 and 4
2and3
1 and 3

Which of the following statements are

not correct in respect of Private Member
Bill introduced in Parliament?

(D

(2)

3)

(4).

(A)
(B)
(©)
(D)

CSP-1/A

A Private Member is any Member
of Parliament other than Member
of Treasury Bench

The Bill of this nature are
introduced and debated only on
Mondays

It’s introduction in the House
requires One Month notice

A Constitution Amendment Bill
may be introduced either in Lok
Sabha or Rajya Sabha

3and 4
2and 3
1 and 2
1 and 3

61.

(1)

(2)

3)
4)
(A)
(B)
(©)
(D)

62.

(1)

(2)

3)

4)

(A)
(B)
©
(D)

28

QUAGR IPENIERE 6REAARNT TACYT6R 69Q
Q3gee O] ge< ?

2IGERNIERE 6FERAUN AUMA A6GIS 2IRR
SN

QERIIARAQ HITQIQAES aARIAE
2QQIeq QIF QURAIG FYS 2T

64 QENIAIRAR TPIQAT 6291] 611G
QIFQ QA 65 9dq 2N 62IRRAS
164

264

263

163

Q618 699 IYER AAWEH 69ARNIAT B
QAYIAE gaAFea O] 96 ?

FEE 6RUARIQT AQQY, AARAITR 1S
626x16d Qrae

9Z TR Q0QIAR B IERISR 6L
6QINLIAER 6NN

Q269 Y2 AAYITR VIR 9L AIAQ 6RITA
2IAE4P F6R

69T QAMIQ A°CARIS TR ERIRARI
QAUNARVIER ALPITR FAINAIER

364
263
162

163



63. Which of the following statements are
correct in respect of Anti-Defection

Law?

(1)

(2)

3)
(4)
(A)
(B)
(©)
(D)

64.

Anti-defection Law found place in
the Constitution by 52
Constitutional Amendment

The Tenth Schedule of Indian
Constitution was inserted in the
Constitution in the year 1989
The Anti-defection Law was
reinforced in the year 2002

[fany Member who is independently
elected joins any political party, he
is not disqualified

2and 4

1 and 3

1 and 2

3and 4

Which of the following statements are

correct in respect of ‘Special Sessions’
in Parliament ?

ey

(2)

3)

4)

(A)
(B)
©)
(D)

CSP-1/A

The term Special Session of
Parliament is defined in Art. 85 of
Indian Constitution

Art. 352 (8)(b) of Indian
Constitution speaks about Special
Sitting of the House of Parliament
The proceedings of both the
Houses of Parliament in special
sessions would be limited

If proclamation of Emergency is
issued when the Parliament is not
in Session, 1/3 of Lok Sabha and
1/3 of Rajya Sabha Members can
ask the President to convene a
Special Session of Parliament

1 and 2

2and3

2and 4

land 3
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63. 9R99R J6QR AINR JATER F6AIQ QR
Q@9ee 0 ?

64.

(1)

(2)

(3)

4)

(A)

(B)

(©)
(D)

QAMIEQ 52 QF QAEARIFER IR W
F6QR AIRR FIF AIRYR

1989 6@ QfuIee @49 991 2399
62IRAM

2002 6Q @9-997 Y61 ARG § 2IA
QF QUK

A% 6@16d Ay QIRIR NS FIITS
621026Q, 64 64 61T Q@6 QAIF@
626 OIF TSI QNS CRAIT |

264
163
162
364

Q°AYQ 07 UNELEIE YAFER F6qIg 691
Qa9ee 0] ?

(1)

(2)

(3)

4)

(A)
(B)
©)
(D)

RAGIR AR U 856Q YA
J0q 260 A°RI GUIKAIAT

GG e IRl 352 (8)(%) 6@
QAR YO AYERIFA A6[S 2T

Qeq 2YELARER 2°A9Q QWD IR
FIdyIen! A1Fe qse

A°QAQ YYERIAR QYR 6RER LT FQA

ARGE 6QAIV4 FAUAIN, 6969 ERIFAAID
9@ QU1GIP8 8 QIRIARA 9@ GOIRI°E
QY QUFATF A°ATQ YOG A6
2Igle fda @298

162
283
264
163

[P.T.O.



65. Which of the following statements are
correct in respect of ‘Due process of
Law’ and ‘Procedure established by
Law™?

66.

CSP-1/A

@

(I

(A)

(B)

©)

(D)

‘Due Process of Law” focuses on
the formal adherence to legal
procedures set by the Government

‘Procedure established by Law’
emphasises the protection of
individuals Rights and fairness in
the application of Law and Legal
Proceedings

I is correct and 1I is not correct

II is correct and I is not correct

Both I and II are correct

Both I and II are not correct

Which one of the following is necessary
for Pressure Groups to be effective in
influencing Government Policy?

(A)

- ®)

(€)

(D)

Large number of Members

Access to media outlets

Money and Expertise

Legal support

30

65.

66.

- aeea 9212 gg@a (Due process of Law) 6

gIee el ge§e gaie1 (Procedure
established by Law) gaaea @6qig 69
289ee 0] ?

(@

(1D

(A)

(B)

©)

(D)

2109 J21g gRal A9RIas QIR gehe
QUIR NIYIQ RIST 2UINE RTERQ T
@9

‘2R QR gEFe 9aIR fRI9ARAIeT
IR G TR 2ICIRR 6AFER 6T
AR B YRLIQ A @9 |

10] 611 9R

[10c6lga

eaa le Il o

aeal eIl ga

AARIQ! SYIUIFQ YEAITAIR QUG 699G
claeqigt (Pressure Group) Qial 21964 ?

(A)

(B)

©

(D)

YR AGli@ Ay

SISIIYE 4R Q°6RIGl

28 6 2ER!

2DRCe AdLIAG|



67. Which of the following are correct?

68.

Substantive Public Policies are those
which;

(1) plan and programme to get things
done

allocate resources/services to
particular segments of larger
society

(2)

3)

directly distribute benefits or costs
for citizens

4

impose restrictions on behaviours

(A) land4

(B) land2

(C) 2only

(D) 3only

Which of the following policies provide
a Tax refund on all or part of a poor
family’s Social Security Tax?

(A) Temporary Assistance to needy

families

Earned Income Tax Credit

(B)
(C) Food Stamps

(D)

Supplemental Security Income

CSP-1/A
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67. Q699 6aaYeR O] ?

68.

Q21K ASRRIR F189ER GI12!, QI

(1) QdIYRd QIR 6QISRI 6 QI

(2)

Q209 dIFIFe 64IgIaIR ANR/6QR
QGRS 4

3)

RIETRAIRE I JOISNIER AR I FRY
gR

(4) 21996 RUEQ AR RSS!
(A) 164
(B) 162
(C) eqee 2
6qeq 3

(D)

f6Ig 6996 69T gde af9ae ANIRR
Qoal TQ9Q 2°d QI AYRIA TR 6TAURF NG
edg ?

(A) 9QQ alQIageq QAINIPe ARG
(B) 2@e 219a 694
(C) @ieyeg

(D) 28dg geal a1g

[P.T.O.



69. Which of the statements about Public
Policy are Correct? ‘A Public Policy
may be;

(1
(2)
3)
(4)
(A)
(B)
(©)
D)

70.

General or Specific
Broad or Narrow
Positive or Negative
Rational or Irrational
1,2and 4

2,3and 4

1,2and 3

1,3and 4

Which of the following statements are

correct in respect of ‘Distributive Public
Policy’?

ey

(2)

3)

4)

(A)
(B)
(©)
(D)

CSP-1/A

It is also known as ‘Patronage
Policy’

It is meant for specific segments
of Society

It is concerned with regulation and
control of goods and services

It requires little administrative
discretion

I,2and 4
2,3and 4
1,3and 4

1,2and3
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69.

70.

Q6919 690 APYER AITRRe Q16 adisgaIee
0] ? 691G AIGRER F1G 298 ?

(1)
(2)
(3)
(4)
(A)
(B)
©)

(D)

ARIRE QI ARG
gég Q1 Agee
AR I AR
89 QI 6Re1R
1,264

2,364

1,263

1,364

F67I9 699 RQYER ‘AITFRR 999 Q1§
aq6gaIea 0] ?

(1)
(2)
(3)

(4)
(A)
(B)
(©)
D)

gl Y ‘gYsaITR Q18" Q6 9qTe
92! AN FaY 69191/9dw AR R8g

42 AING! B 62N ATIFR G FARE
aIQ 8g

2| @C1 gIIQAGR TR 2R FEQ
1,264
2,364
1,364

1,263



71.

72.

Which of the Articles of Indian
Constitution relating to Fundamental

Rights are not available to Foreigners in
India?

(A) Articles 14, 20, 21, 24 and 26

(B) Articles 21, 21(A), 23, 25 and 28

(C) Articles 14, 22, 25, 26 and 28

(D) Articles 15, 16, 19, 29 and 30

Which Four Amendments to Indian
Constitution given below are related to
Scheduled Castes and Scheduled Tribes

in India?

List of Amendments to Indian
Constitution:

1, 8,19, 29, 46, 65, 95, 102
(A) 1,8,65,95

(B) 8,19,46,102

19, 46, 65, 95

(©)

(D) 1, 19,29, 65

CSP-1/A
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71.

72.

RURGIS QAIGR 6A1AR 2RI ARSI €S
UIAFES AOSER F6QANFIGT AR ARG G6F ?

(A) uiei 14, 20,21,24 626

(B) @21, 21(A), 23,25 6 28

(C) wien14,22,25,26 628

(D) waiau 15,16, 19,29 6 30

QINGIN ARIIFA FEAIP 60Q SIRETIT L6HIUR
AAGA UGYTS |IC B FRVICE ARG ?

QAAGIY QAURY ACHRIR SIS
1, 8, 19, 29, 46, 65, 95, 102
(A) 1,8,65,95
(B) 8,19, 46, 102
(C) 19,46, 65,95

(D) 1,19,29,65

[P.T.O.



3.

74.

Which of the following statements
are not correct in respect of ‘Right
to Privacy’?

(1) The Nine-Judge Constitutional
Bench that declared ‘Right to
Privacy’ as Fundamental Right
was headed by Justice J.S.

Khehar

(2) The Supreme Court of India
gave this historic judgement on
August 24,2018

(3) Justice J.S. Khehar was the
former 42" Chief Justice of
India

(4) He was appointed as Chief
Justice of India in the year 2017

(A) 2and3

(B) land?2

(C) 2and 4

(D) 3and 4

Which of the following is not included
inArt. 19 of Indian Constitution?

(A) Freedom of Speech and Expression
(B) Freedom of Movement
(C) Freedom from Detention

(D) Freedom of Association

CSP-1/A
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73

74.

‘499e 2399’ (Right to Privacy) aassa
6719 699 ABYEe O] Q6L ?

(1) Que9@ 68.99.692i0e 2uRAGIER 900
@' edal QfAUFe H¥EA10 ‘YIS
2NRQ § AR AN QR €QAITAI
*Qg6m

2018, 299 24 6@ @I90a QAL
MIGIRG 98 JTQTR QUL 69REER

(2)

QYIBR 69.99.6821Q VNG AP
MNIARAQ 4260 Y TIRAT

3)

(4)

64 QAP HIIUE e 20176a
A9 621R%6N

(A) 263
(B) 162
(C) 264

(D) 364

F691Q 6008 RIaeIa QAIGa il 190 2999
Q6% ?

(A)

QIR QRIRSI G QYRS
(B) aisriesa quuieel (Freedom of
Movement)

(C) eeig qugeel (Freedom from
Detention)

(D) @raa QluIeel
Association)

(Freedom of



73.

76.

In which of the following years the
'Declaration of the Rights of the Child'
was passed by UNO?

(A) 1949
(B) 1951

(C) 1956

(D) 1959

Read the following statement given below
and choose the correct alternative

Statement 1- Land degradation is caused
due to soil erosion and waterlogging

Statement 2- Deforestation is the major
cause of soil erosion

(A) Both are correct

Both are incorrect

(B)

Statement 1 is correct and
statement 2 is incorrect

(©)

Statement 1 is incorrect and
statement 2 is correct

(D)

CSP-1/A
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75. QeqIg 6a@ adeiea fIFa @ Qlal ‘dge

76.

2RIFNAGEG 6AIFAIRIAN EJ@LGQI@G‘ eLIgml ?
(A) 1949
(B) 1951
(C) 1956
(D) 1959

foRye a9gee 9§ el a0« Iy Ada
!9 |

@§ 1 - Q@ aa 6 eeqgel 6aIg 8Fq 2ean
acag

Q3 2 - 9FR 9] T 7a% 994 ggY 198

(A) @90 0%

(B) <eea gm

(C) gaa a8 0] 8 §o1a 28 9

(D) gaa a8 9m 6 o019 28 01

. [P.T.O.



77. Land degradation in India happens ata | 77. QIa@ea @gf AIgI6a ada 2eaa A48 | QI

very large scale”, because RE -
(A) Inadequate soil conservation (A) Qaqge A% I°AAG 49gIQ AR
measures

. (B) aewue oé
(B) Overgrazing

(C) Both(A)and (B) (C) @oa (A)9e (B)

(D) None ofthe above (D) gEe aug 6996 g8

78. “Thereisahugelossof valuablenutrients | 78. @iagsa gaieie 98 6 Q9QQIQ VIS I
and fertility in India”. What are the 298RS 249 | ¥2IQ KIQE -
reasons for this?

(A) @< a0
(A) Soil erosion

B) 5
(B) Land degradation (B) sfczcaa

(C) Water logging (C) emqgel

(D) Air Pollution (D) <iggqse

CSP-1/A 36



79. Which of the following organization

80.

81.

collects every data on poverty in India?
(A) MGNERGA

(B) NSSO

(C) SISRY

(D) None of these

Which of the following helps to measure
the Poverty Determination?

(A) Poverty Gap Index
(B) Head Count Ratio
(C) SenlIndex

(D) All of these

In India, which of the following
determines the wage policy?

(A) Productivity
(B) CostofLiving
(C) Standard of Living

(D) None of these

CSP-1/A

37

79.

80.

81.

Q6919 699 AF0R VNG QIAQY VAR AAY
Qe A°ge K6Q 7

(A) <ageaiesa (MGNERGA)
(B) 41419496 (NSSO)
(C) wq e v9qag ga (SISRY)

(D) elaQ g6e

Q619 AAYQ 696 AAIDT AT FdacR ARIAR
6219l ?

(A) <Ry Qlgiey geqle
(B) ¢@ c4aql agaie
(C) eqq goqie

(D) agg@e

F6qIg MAYQ 699G RASEl AITFAR @18
(wage policy) @¢ga edara ?

(A) QRN
(B) <19¢ d0d4Q gay
(C) Qeg e IR

(D) 6«163G gse

[P.T.O.



82. Which of the following three states in | 82. @QeQ AQVIx FEL QAU QA 69 F6RIT
India are considered the poorest? QY T6900 22T ?

(A) Bihar, Madhya Pradesh, Haryana (A) o9, AuIgees, 282Iql

(B) Jharkhand, Bihar, Uttar Pradesh (B) <ied4q, 3219, 29 9644

(C) AndhraPradesh, Jharkhand, Bihar (C) e1ggses, ¢ious, Gala

(D) Madhya Pradesh, Haryana,

Jharkhand (D) qigead, 2a2Iel, SIewHa

83. Consider the following statements about | g3

DR 310 ‘UCR IR CAIRAI ANNEQ FEQI9 ASMYER
Atal Bhujal Yojana .

I R |

(1) Itisconceived to arrest the rampant

_ : (1) 26ie 969 @R 4eRIa 6IFSI IR
overuse of groundwater in India

@ 6QIRRI gge 62198

(2) Itissupported by the World Bank (2) @qeUs 92196 91g

(3) Itisasub-scheme under National 3)
Groundwater ~ Management
Improvement Scheme (NGMIS)

FIO1D YOr R JACIRT IR QAR
UNFER 92 IR QACKIRER!

OR A84T Bda o9 |
Select the correct statements ' 4

(A) 2and3 (A) 263
(B) 1and3 (B) le3
(©) land2 © le2

(D) Allofthe above (D) easqig Qg

CSP-1/A 38



84. Which year is known as the year of
demographic divide?

(A) 1921
(B) 1920
(C) 1919

(D) 1918

85. Consider the following statement (s)
related to the reasons for low sex ratio.

[.  High maternal mortality

II. Sexselective female abortions
IMI. Change in sex ratio at birth
Code:

(A) Onlyl

B) I&II

(C) M&III

(D) LI&II

CSP-1/A

39

84.

85.

602 Q97 FAAHY AN SRR 28 W6
Q600 crIRaNg ?

(A)

(B)

(©)

(D)

1921

1920

1919

1918

A 2QUIS @F 62QIR G AANER F6YIY
18Q4gee 919 a9 |

6@l :

(A)

(B)

(©)

(D)

NS €Ig QIR

QF BQAd GRe 994l a6y

Qg AAGER RS AQAIS VTR

[g=lala|

[ae° 11

[Tee 111

[, 11 qe° 111

[P.T.O.



86.

87.

Consider the following statements
regarding an aquatic ecosystem :

(1) The shallow water zone around the
edge of the lake is the littoral zone.

Limnetic zone is the open zone
where phytoplankton grows in
abundance

(2)

Profundal zone is the dark zone
where the light cannot reach.

(3)

Which of the statements given above is/
are correct?

(A) 1only
(B) 2and3only
(C) 1and3only

(D) 1,2and3

Which climatic phenomenon is
characterized by cooler than normal sea
surface temperatures in the central
Pacific Ocean?

(A) LaNina
(B) ElINino
(C) Monsoon

(D) Tornado

CSP-1/A
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86.

87.

FRR A6 NP 677 TERIY RPYERQ FBIQ
QR :

2Q AUINER Q! RLEIY FREAG 6298
mcaim 6ag (Littoral Zone)

(1)

Limnetic Zone 6268 {9688 6420162
phytoplankton gga @iee egaia

(2)

Profundal Zone 628 2921Q 699
6AQ0I6Q 2I6RIR aLBReN

3)

Q6QIQ 699 Ag/239E 01 ?
(A) eqee 1
(B) 6aee 26 3
(C) saenla 3
(D) 1,263

62R10 948 ARIACN6R 699 QIS a4l
ARIQE QAIYTR SIAAIG 18R Q@A ?

(A) @@el(LaNina)
(B) <@ @eql (El Nino)
(C) sdlgen

(D) «igge ¢¢ (Tornado)



88.

89.

Which of the following Articles of the
Constitution of India refers to protection
and improvement of environment and
safeguarding of forests and wildlife?
(A) 39A

(B) 43A

(C) 48A

(D) 51A

Which of the following are primary
pollutants?

(1) Carbon monoxide (CO)
(2) Sulphur oxides (SO,)

(3) Volatile Organic Compounds
(VOCs)

(4) Nitric Oxide (NO)
(3) CEC's
(6) Radioactive pollutants

Select the correct answer using the code
given below

(A) 1,2,3and 6 only
(B) 1,2,4and5 only
(C) 3,4,5and6 only

(D) 1,2,3,4,5and 6

CSP-1/A
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88. @IQG10 QAUIRA T6YIQ 699 AR QERG 6

89.

QTR 98I B OGS4 GQI9 QIR @AY ?
(A) 39A
(B) 43A
(C) 48A

(D) 51A

Q6919 cagee glafie gesa ?
(1) Carbon monoxide (CO)
(2) Sulphur oxides (SO,)

(3) Volatile Organic Compounds
(VOCs)

(4) Nitric Oxide (NO)
(5) CFC's
(6) Radioactive pollutants

a06a QUILIRAYQ 6Q1F NI *7 0] Qe
QU |

(A) 699 1,2,366
(B) esen 1,2,465
(C) 6a9@3,4,566

(D) 1,2,3,4,566

[P.T.O.



90. Consider the following statements:

91.

(1) Meteorological Drought is based
on the impact of rainfall deficits on
the water supply.

(2) Socioeconomic Drought refers to
the impact of drought conditions on
supply and demand of economic
200ds.

Which of the statements given above is/
are correct?

(A) 1only

(B) 2only

(C) Bothland2
(D) Neither 1 nor 2

With reference to cloud seeding,
consider the following statements:

(1) Tt is a weather modification
technique that improves a cloud’s
ability to produce rain or snow by
introducing tiny ice nuclei into

certain types of subfreezing clouds.

(2) Aluminum hydroxide is the most
common chemical used for cloud
seeding.

Select the correct statement using the
code given below:

(A) 1only

(B) 2only

(C) Bothland2
(D) Neither 1 nor 2

CSP-1/A

42

90.

91.

Q6019 QIYLR I91Q 9 :

(1) afaeae 9% SR6QIGIg6a IS
dele aae

(2) Qa@e 6 21Ige A8 g AN
6QIGIE G QT 2ARIAG

Q6P 699 2B/2YE 0 ?
(A) 6aeq 1

(B) e@eq 2

(C) eaalag2

(D) 1 @2, eqages

609 @196a (Cloud Seeding) @@ed &89
QGYERA IR FQ:

(1) w2 9eadaQ QuIea 6Ql4e A2l 67a9
Qdl QQIee AAGI QF QI €AAAIRIG
S0 BRI 607 6816 AT ¢e 9]
@69

(2) 2Rffan QARCRIYAINS, 60 Q1R
6QIA€6Q JGS QUALTR QS MR

PR

Q6@ QUIDINYR 6219 4R 97 A0
QARG QUL :

(A) eeeq 1
(B) eaeq 2
(C) awa 12

(D) 1 @12, 6a2g6e



92. National Air Quality Index (AQI) is

launched by the government to monitor
the quality of air in major urban centres
across the country on a real-time basis
and enhancing public awareness for
taking mitigative action. In this context,
consider the following statements:

(1) AQI will have ‘one number, one
colour and one description’ to
inform the public about air quality
in a simple and easily
understandable format

(2) There are six AQI categories,
namely: good, satisfactory,
moderately polluted, poor, very
poor and severe

(3) The index considers eight
pollutants - PM10, PM2.5, NO,,
80,,CO, O,,NH, and Pb

Which of the statements given above are
correct?

(A) 2and3only

(B) 1and3only

(C) land2only

(D) 1,2and3

CSP-1/A
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92. eee Qo National Air Quality Index

(AQI) gogl QIR 6997 G ALAERER
28130 ANAIQAIES 6 QIY FR1VE G FRAESRS!
Q8 QQQI RAY gAI, 98 AR GF) ggResa
I91Q 99 |

(1) AQI ‘9@ @Yy, 9@ aF 6 99 gel’
600 99019 QIR AIF AR B AR
RAEQ YA g

(2) AQIa63%3u4, gal: 98¢, A6IFER,
2g 9980, WY, 2R AT B QSE
QUL

(3) <% SRR IOT gouda I9IQ Q6 :
PM10, PM2.5,NO,, SO,, CO, O,,
NH, 6 Pb

QU6RIQ 699 AGYER 0K ?

(A) eaeR 263

(B) 6aee 163

(C) eaenla2

(D) 1,263

[P.T.O.



93.

94.

Which of the following best describes
the term Deep ecologism?

(A) A philosophy that believes in
specific changes in daily lifestyle
of humans to minimize the damage
to the environment

(B) A philosophy that believes that
humans should radically change
their relationship with nature

(C) A set of sustainable practices to
increase fish production in shallow
ocean ecosystems

(D) None of the above

The ability of a population to increase

under ideal environmental conditions is
called

(A) Natality

(B) Carrying capacity

(C) Biotic potential

(D) Absolute natality

CSP-1/A
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93.

94.

'Deep Ecologism' @ 36718 629 23% @@
@UER IS @EQ |

(A) 9@ 260 QT IGIA FEQ TR 19
cdRIea ARg adees Adeg adeed

Q7 8% *AQIEQ ATIAC! QEQ

9@ 4R Q1T §gIA 961 F8Y, ARERS
Q2 YUNEA NIAR AT 989! Q2

(B)

(C) @Qd€Ig AYIR aR696a AIg AQIee

QF QAQl gy

(D) @6l 6R6TT gee

208 OR6Q8 2LQYIER FEA°E A I
QUEM Q' QeI ?

(A) egee (Natality)

(B)

aaeaé (Carrying capacity)

(©)

6@ ainey (Biotic potential)

(D) @94 egae (Absolute natality)



95:

96.

97.

Which disaster is most likely to be
influenced by climate change?

(A) Earthquakes
(B) Tsunamis
(C) Tropical cyclones

(D) Volcanic eruptions

Tidal waves are caused by which of the
following gravitational interactions?
(A) Sun’s gravitational impact on the
Moon

(B) Earth’s gravitational impact on the
Moon

Moon’s gravitational impact on the
Earth

(©)

(D)

Earth’s gravitational impact on the
Sun

A square shaped hole is punched in a
metal sheet whose linear thermal
expansion coefficient is 1 x 10~ per °C.
The size of the hole will decrease by
10%, when

(A) The sheet is heated by 10 °C
(B)
(©)

(D)

The sheet is heated by 100 °C
The sheet is cooled by 100 °C

The sheet is cooled by 10 °C
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93,

96.

97.

GRQIY C09AR JNINEA 699 QEUIR 2R
6LIReINg ?

(A) @fea
(B)

geien

(©)

QIQae QIey!
(D) 21699 2Qa1ad

26019 699 AIrIGIE G 619 IR 98 29
(A) o) Q96 gAITQ ARISES g9
(B) o2 @06a ga91a ArIeds g

(C) qae1 agea 98 @ ARINES 99

(D) 94y @uea gae1a ARISES gRIQ

4@ dI9Q d6 QIRIQ 699 R 1918 A°gQIQE
gae 1 x 107 g °C 01096 98 Q4€IQIQ
8¢ fauge® | 8ea aIeia 10% 219 aIae,
66GERER -

(A) @g 10 °C Qa1 99¢ 24

(B)

de 100 °C Qiau gaa 99
(C) @g 100 °C qiou &gl 24

(D)

de 10 °C Qial a8l 24

[P.T.O.



98.

99.

100.

Which among the following has the least
thermal conductivity?

(A) metal
(B) semiconductor

(C) superconductor

(D) alloy

Symbol of material used in conventional
glass thermometers is

(A) Mg
(B) Hg
(C) Me

(D) Mn

The temperature variation of land near
sea is very less compared to that far from
sea. This is due to

(A) Sunray is not direct
(B) The sea absorbs the heat
(C) High heat capacity of humid air

(D) Heat is reflected by the sea
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98.

99.

100.

Q6P FRIYQ 6RNTR ASRY SIDI8 ARIRES!
ag ?

(A) uQ

URARSILT

(B)

(C) 2@ adeigl

(D) dgug

AR QIP AAINTRER 49LE ANYIR 1R
6298 -

(A) «q& (Mg)

(B) wq& (Hg)

(C) «9a (Me)

(D) «q9q (Mn)

dq90Iq YRER 29I FRAIT QRRIER FRGeR
QI gRRITIR SIAAIIR SIRSNY 998 @9 | ¥R
QQd -

(A) 9d4das gous 964
(B) aqe aaag eai1g4a daa

(C) a1g Qga aF aaIa 8as!

(D) <@g gl goaohe ceinaid



SPACE FOR ROUGH WORK

CSP-1/A 47



AL

CSP-1/A

SPACE FOR ROUGH WORK"

48



